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STEPS FOR SIMPLIFYING RATIOS

The steps we need to do to simplify a number ratio are:

- Find the GCF or HCF for our two numbers.

(Do this using Factor Trees for our two number values,
or just work out the biggest number that goes into both).

- Divide both our number values by the GCF or HCF value.

(Dividing both values by the biggest number that goes into
both of them will produce the smallest simplified ratio)

- Write down the simplified answer ratio.
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Simplifying Ratios — Example 1

Simplify the Ratio 6:15

First find the GCF or HCF for our two numbers.

6 15
/\ / N\
2 3 3 5

The biggest common factor is 3.

Next we need to divide both 6 and 15 by the GCF of 3.
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Divide both our number values by the GCF of 3.

6 : 15
+3C D +3
2 : 5

The simplified Ratio Answeris 2:5 \/
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Simplifying Ratios — Example 2

Simplify the Ratio 16 :12

16 12
7\ N
2 8 2 6
/' \ /' \
2 4 203
/\
2 2

The biggest common factoris 2x 2 =4
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Divide both our number values by the GCF of 4.

16 : 12
+4 +4
4 : 3

The simplified Ratio Answer is 4:3 \/




